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I. Vocabulary (82 4 * £30%): HHEEN 2B £ wNLEF

1 2 3 4 5 6 7 8 9 10
A|C|B|B|C|D|A|D|A|D
11 12 13 14 15
D | C| A | B|C
ILCloze (524 £40%) FHEEUR 2B AEIENEEF
16 17 18 19 20 21 22 23 24 25
B | A|D | B |C|B|D|D|A]|C
26 27 28 29 30 31 32 33 34 35
A|lC|C|B|D{B|A|C|D]|A
I Blank-filling (%4 1 %4~ 3 10%)
36. take turns
37 making up
58 Compared with
39 on purpose
0. as if/though
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102 2 F E & 48 48 42 #F 8 X488 X%
#8 #®E (—He)[AA])
—~BEA (—EA N  £605) HHBEEU BT ENLEEE

1 2 3 4 5
C A D C D
6 7 8 9 10
B A E B A
11 12 13 14 15
D C B E E

=3 EA (1050 £ 40 9)
[EZE] x-29-1=0;(7,3)

(]

(DET A(L 0) + B4, ~6) = TR AB HUSE m, =2 =2

ﬁ E—L—A‘E‘ = mAD::% y
ML AD By HRENE

y=-0=5 (-1 Bl x-2y-1=0 -

[a—y
b [—

() AB // CD = m ,=m_ ==2 + X C(9,-1)»

= EiR CD BTREAR y+1=-2(x-9)

D
0la x;
Bl 2x+y-17=0o ¢
T DEREMAD ix-2y-1=0E
B

EAR CD * 2x +y-17 = 0 BYZZE -
. D YA, 3) -
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(%% a=2,b=-1, p=-11 > FFEIR 2+i, 2-i—4
[ 7% ]
RRERBERGEN X + po+20 = OWEER a +i,2 + bi FLESHETHEEL -

5 Filla=2,b=-1

= x-C+)[x=-C2-D]]x*+ px+20
= x?—4x+5|X° +px+20 = + px+20 = (x* —4x +5)(x +4) =x* - 11x+ 20> p=-11

MERSE-4 -

[EE] (x-2)"+(y-2)"=4 v (x+6)* +(y—10)* =100
SR +y' —dx—4y+4=0 vx*+y* +12x-20y+36=0
[ ]
[f7—]
A (02),B(24)

Bl» K7 ABRYPIER x+y = 4 1 H.4] x
HEVLK@-rr) RS r (r>0)

r=Kd=(4-r)F +(r-2) = r=2v10

3. HELE K(Q22) » B K(-6,10)

CEEAERR -2+ (y-2)" =4 v(x+6)’ +(y-10)* =100
(=1

HEC:x* +y* +dx+ey+ f=0

8 A(0,2) = 0d +2e+ f+4=0

@ B(2,4) = 2d +4e+ f+20=0

Yixili= y=0RAB +dv+ f=0FER=d* -4 =0

BEIZIRAS (d, e, f) = (12,-20,36) v (~4,~4,4)

R AERE X + ) —4x~4y+4=0 vx* +y* +12x 20y +36 =0
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[BE])] )y EAES 2 HE/MES-2 Q) y WEAES 2 BR/MES-3
[ 2]

1
y=sinx ++/3 cosx = 2( 5 sinx +73 cosx) = 2(sinx cos%-i- COSX sin% }=2sin (x +%)

(1. -1ssin(x+§)s1 = -2<y<2
4. S yHIRARMER 2 Sl MER- 2
4
QH0sx<sxr = %Sx+§$7ﬂ- = —§Ssin(x+—g—)sl = -+32y=g2
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—~BEFM (—HM45 3£ 6045) HREEN2BMENENEEF

1 2 3 4 5
A C B D E
6 T 8 9 10
E D E B D
11 12 13 14 15
A B D C A

= EA (1050 £ 40 5)

[E%] m=3 ,n=1

[FE] 3%/ (=0 2= @—d+tat(a+d=—3
ca=—1 RAS(=1 )= mAn=2eeeees (1)
Hrg()=0 zzzraﬁ%(g)ﬁ(ﬁw ——3

=8 f=—2RAg(—2) =—2mtn=—Teerem (1)
FR(L) ~ (IDfFm=3, n=-—1
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[E2] BNEE=S+5 » Cl4 %)

Ay
[f#E]
(1) WAEE - FESGHRIA - BRES
fIFAL : x -2y =1 Z |l - &
MEFSRABILZ TREEA -

Q) mi=s » AL Z TR
BRIELASE] A4 ¢ y+l = 2(-4) » B A4 @ 204y =7=0 >
TS E] A4 LY X BDE 0 1) -
FIFI DR AL RELTTRIGA' (2> 3) °

(3)A'B : 3x+4y-18=0 » {£TBF 4B EI’J)C%EC("H—)?%FE‘E

[BE](Ma=—4 (@ f(x)=6x"-6 (3)%

[f5) (1) x=2 {‘%Aj:f(t)dt=2x3—6x+a » 180=16-12+a » Filla=—-4 ;

Q) WESIERTIEME [ f(Odt =22 ~6x—4 » T f(x) = 65" =6
3. (3) f(x)=6x*-6=0=>x=1,-1
FRBAERBITRERLR [ 2(6x" -6/ dx =367 (x* ~2x* + D

1
=367rx(—1~x5—zx3+x) =12%7r
5 3 -1 5
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(X1 $ @PE )

2
[##%]) 3%+ 167 =16 = T—G +y4=1> EﬁP(%cosB! sing)

5

3
, |44/3 cos @ +4sin 8 —12]
PEIHEL  3x+4y=12 5 d(P > L)=

4 3

=i | -ch056+sin6—3|=§ ]2(70089+%sin9)—3i

>
th

| 2(cosfoos %+ sinfsin =) =3 | == | 2cos(@~"Z)—3 |
6 6 5 6

il

4 4
F/AMEd =— |2=3|=— >
H/IME - I | :

JJ:tH§GOS(G—%)=1=> %e-% =0 = 9=16’.

'. cos(?:% ) sin6=% .. PERAAE (D » %)
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1 2 | 3 4 | 5 6 | 7 8 | 9 | 10

D A C D A D C A A C
11 12 13 14 15 16 17 18 19 20

C B D B B C C D D B

2] 22 23 24 25 26 27 28 29 30

D A B B B C B D D D

31 32 33 34 35

A B A D D

= AE (BEEE25 £3305)
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1 2 3 4 5 6 7 8 9 10
D D B A B A A D C A
11 12 13 14 15 16 17 18 19 20
B C D A D C D C D C
21 22 23 24 25 26 27 28 29 30
C C A D C A B C B B

31 32 33 34 35

D A C B B
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1.1 2. | 3.4 | 5 6. 7. |8 |9 |10.|11.|12.|13.| 14. | 15.

D|E|A(C|D|B|C|E|A|B|D|A|E|C]|D

16. | 17. [ 18. | 19. | 20. | 21. | 22. | 23. | 24. | 25. | 26. | 27. | 28.

Z#HEE QAM O HEARMS 5 £1645) AEFHEBERTHY
L () #8mswEmEsR -
RAFIT M B =23 R E R+ A B e TR »

=> 44=04x(10+R) => 10+R=%=110

=> R=100(Q)

(2) B R E=RBER B 9 THG )T BERFFTHERG,)
=> 0.4=i +i, *
R&FHBERBLH = BHEEABE = i x100=7,x1000 => i =10i,
=> 04=10i, +i, = i2=%(A)’

R4 A =V =i, x1000 =%=36.4 ) -
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2. | mAMEGEBEYEEEN
= BN BROTEEFHE  JOReALARTNRES

HBAENF DR R E Aa, FHOREZmEE S, HEEMS DR Y

kR AKHN
A ERENR | ok EAT)

474 ® H ) ¢ mgsind + ma,, cosf =ma,,,

EHHBA® : N+ma, sind=mgcosd »
BB A TR (ot BATR)
KEFH & ¢ Nsind = Ma,,

BEFE® D N'=Mg+Ncosh -

=> N—MaM AN = A{GM + ma,, sin6 = mgcosé >

sind sin
=> (M +msin’ 8)-a,, =mgsin@cosf > Mg
= g, = mgschosB 1 _mgsin26 (1)

M+msin’ 0 2 M+msin*@

Ma Mmgcos@
NIN=—HM = N=—"w-2"2_ ... 2

AR sin@ M +msin®* 8 )

%2R #¥2 R



102 2 F EEBSBLBLEFTRARALE

#8: b® [Ar)
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=A% 1. 2. 3. 4, 5. 6. 7. 8. 9. 10.

L% B C C A D D C A D B

AR 11. 12. 13. | 14. | 15. 16. | 17. 18. | 19. | 20.

£ | D! D | A | D|C| C| A | C| A | A

A% | 21, | 22. | 23. | 24. | 25.

X% | B | D | C | D | B
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R 2] 22 23 24 25 26 27 28 29 30

B B A C D B C D A C D
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